H & 0l & AHS B Ml A

M N2t

M Y NY A

Sl NgA 2o (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N2t 370,963 295,480 75,483
S8 Mg &8 301,279 225,7% 75,483
KA S0 244,512 172,734 7,778
KA SE 146,897 151,301 N4,404
201 fer= 3| 120,497 124,901 N4,404
01 At 2|l 41,162 38,807 2,3%
KgA 12 OXA H= 7,32
SSHGIAM(S5) 66,0003 * 128 A 792
« ASXHAl 66,0003 *592 A 3,8%4
=AMl 66,0003 *418r A 2,706
AEA ZI12 AXNA =2 14,460
SSUGIM(2Hd) 875
-G A 403 %17,5004 700
S5 703 %2,50021 175
AHS A 8,785
-8 402 +115,500A 4,620
-85 703 %59,5004 4,165
QA 4,800
-8 A 403%120,00024 4,800
NLASH(BL) LFHSAIN HH 2 =
g 223 %40,0002 880
NYASHI(ZL) AFUDS HE L 22
100&%6,00021 600
KNSASA A 0dE 23| 1,000
HDE SR TIE
44,0002530% 2 1,320
FAIE ENIXA M=
44,0003 302 A 1,320
MEDXA(EEE) M2
66,0003 *502 A 3,300
HMEDRM(BEE) == 6,440
- A 402 +112,000A 4,480
- S5 702 %28,0004 1,960
DTN & SIS 528 25 2Y
50& %45, 0000HK 2,250
S22 ¢ 100,000 *11H*23] 2,200
02 s3=gHl 79,335 86,094 26,759
fERS 79,335
SSHEAMI(SHA) 13,975
-t H 43021%32, 5004 13,975
AHS HA 55,130
-2t H 4302 *113,500A 48,805
-SJ|1RH 2,530 *2,5004 6.325
NgASA 7,650




2A:

N2t

B 2 NE A
el NLA Fod =+ EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-2EteH 4303 +7,2004 3,09
-SJ|1fH# 2,530& 1,800 4,5%4
eHA=2 2,580
-eEteH 4302 +6,00024 2,580
204 ARt AH 26,400 26,400
02 SLR3H 26,400 26,400
NFEg32d 100,000 x22E 122 26,400
HEHE 2 S2OtLY 97,615 21,433 76,182
201 et23| 14,040 13,350 690
01 AtR2telHl 14,040 13,350 690
NLA 25 S B2 o2 R 5,280
YR 29 o2
1102 %4, 0000172 3,080
g ¢S 110&%12,0000H 1,320
FOIM(ARIAE) OHHR
110&*4,0000H 440
FHSAI(XHe) ethe 1102 +4,0000H 440
KNgH 2 828 &2 € i MH 2,660
=R 60,0002 54 2=+72] 2,100
- B 40,0003 *204 2+72] 560
NLHER 228 ZAH A 2,800
EAH 800 *5000H*72] 2,800
ANLHER E22 MH 4,000 400K 1,600
24t eHH=2 HIE 1,000
NE=s2E Z2U2 700
202 048l 1,200 1,200
01 2L A b 1,200 1,200
KA &K A 300,000 x4 H*13] 1,200
203 =48] 900 900
03 A=A 2= 900 900
N=SHERFA 1,000,000 *90% 900
308 XXM SOIH 81,475 5,983 75,492
18 SIS0t & AAS A 81,475 5,983 75,492
NSAEEAAY SX2ell 81,475
Nel=g &= 56,767 53,062 3,705
Mol d= 56,767 53,062 3,705
201 er=23y| 7,300 6,830 470
01 AtR2t2|HI 4,880 4,410 470
M2l OXA HE 44,0003 x202} A 880
N2l OXA &4 1,650
=N 402 %15,0004 600
- S5 703 +15,0004 1,050




M N2
B 2 Y A
Rl Mel=g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EPSTEEERTE 15021 %12, 0000 1,800
Helael S)| Zeaar
1,000& x50 50
N2l M gFMHe Siie+=2
500,000& 14 500
2 S5=24g4l 2,420 2,420 0
HTHSLFIAMHIA MBS 2,420
AEZHEAMHIA 1,320
XS FAHIA 1,100
203 =4l 450 450
03 A=A 2= 450 450
NI2la=2 AIZHZ=Z 500, 000 *90% 450
303 Zaf= 13,000 13,000
01 Za= 13,000 13,000
AL 13,000
308 AHXIEMSOIE 36,017 32,782 3,235
18 SIS0t HAS A 36,017 32,782 3,235
NS HBAIAE X2t 36,017
Y2 AAHI(HS21) 69,684 69,684 0
=3l 69,684 69,684 0
Jl=3H] 69,684 69,684 0
201 er23| 21,552 21,552 0
01 At2tltl 21,552 21,552 0
FAEEHI 3,200, 0002 *95% 3,040
clOldZelE EH 2
220,000 «5CH*43] 4,400
NgA &g 7 60,0002 22 1,320
NZH £ M= N 7
120,000 * 1 120
Jl2e =G
8,000 x64) 22« 123 12,672
202 04| 44,352 44,352
01 2K 44,352 44,352
2 230 280,0003 x22 + 123 »60% 44,352
203 gF=4| 3,780 3,780
M FA2HLRFEI 3,780 3,780
FA2EHRFAH 350,000& x 122 x00% 3,780




